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Match #8


These questions are for use in the Virginia High School League’s Scholastic Bowl Region competition. Shawn Pickrell, Jason Mueller, and Dan Goff are the authors of these questions; further editing was done by Adam Fine and Marian Suter.

Regions must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL Region champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your Region’s competition is prohibited. 

First period: 15 tossups, 10 points each
1.
It can result from a malfunction of the cardiac sphincter.  Treatments for it include proton-pump inhibitors, alginates, H2-receptor antagonists, sodium bicarbonate, and antacids.  Name this ailment also known as pyrosis that involves a painful feeling in the esophagus and has nothing to do with its namesake organ.

ANSWER: heartburn (accept pyrosis before mentioned)

2.
The novel in which he appears says he ‘was dead, to begin with.’ However, his liberality, or lack thereof, was ‘well represented by his surviving partner.’ However, his spirit became condemned to ‘walk abroad among his fellow-men’ while ‘wearing the chain forged in life.’ However, he promises some comfort, advising his former partner of the visitation of three ghosts. Who was, while alive, the partner of Ebenezer Scrooge? 

ANSWER: Jacob Marley
3.
Only one member from the band's 1990s lineup remains; three of them left to join Scott Weiland and form Velvet Revolver, including lead guitarist, Slash.  Their only number-one single is "Sweet Child o' Mine," but "November Rain" and "Paradise City" also cracked the top 5 for this band.  Formed when Hollywood Rose and LA Guns merged, this is what band, who released Chinese Democracy in 2008 and features lead vocalist Axl Rose?


ANSWER: Guns 'n Roses
4.
A Giffen one of these violates the law of supply and demand, since as its price rises, its consumption increases. A public one of these includes things such as broadcast radio or national defense. What is this economic concept, defined as any product or service that increases happiness or utility? 

ANSWER: good(s)

5.
Characters in this novel include the night orderly Mr. Turkle and the easily manipulated Dr. Spivey. Most of its characters are either ‘Chronics’ or ‘Acutes,’ based on their chances of being cured. The former includes the narrator ‘Chief’ Bromden, and the latter includes Randle Patrick McMurphy. The tyrannical Nurse Ratched attempts to dominate her mental ward patients in what novel by Ken Kesey? 

ANSWER: One Flew Over the Cuckoo’s Nest
6.
The phrase ‘Six Arrows’ refers to his massive program of reform. His military successes forced the Western powers to sign the treaty of Lausanne, guaranteeing his country’s independence after World War I. His reforms included reforming his country’s language to use the Latin alphabet and abolishing the fez. Who made Ankara his country’s capital, emerging as the leader the republic that largely replaced the Ottoman Empire? 

ANSWER: Mustafa Kemal Ataturk
7.
Also sold as Lustral, its chemical name is sertraline hydrochloride.  Like Prozac, it is a selective serotonin reuptake inhibitor.  Introduced by Pfizer in 1991, it can be used against obsessive-compulsive, panic, and social anxiety disorders.  It may increase the risk of suicide in teenagers.  Name this drug that is the most popular antidepressant in the United States.

ANSWER: Zoloft
8.
Sacred texts devoted to this god include the Mugdala Purana. One of his names translate into ‘Remover of Obstacles.’ Not present in early Vedic literature, he was asked by the sage Vyasa to be a scribe in an addition to the Mahabharata. He was beheaded by Shiva for getting overly friendly with Shiva’s wife, Parvati, and thus acquired his most notable feature. What Hindu god, not part of the Trimurta, is best-known for having the head of an elephant? 

ANSWER: Ganesh(a)

9.
Only four percent of Americans have it, with the negative type less common than the positive type.  You cannot have it if you have a parent who is type O.  Since it has no IgM antibodies and both major antigens, it is the universal recipient.  Name this blood type composed of two letters.

ANSWER: type AB blood

10.
This novel’s protagonist will die at the hands of an assassin hired by Paul Lazzaro on February 13, 1976. It is subtitled The Children’s Crusade: A Duty-Dance with Death. Other characters include adult film star Montana Wildhack, failed science-fiction writer Kilgore Trout, and a race of aliens called Tralfamadorians. Billy Pilgrim becomes ‘unstuck in time’ in what novel by Kurt Vonnegut? 

ANSWER: Slaughterhouse-Five

11.
Its protagonist claimed to be a 1905 graduate of Gary Conservatory. In its debut, four school board members were portrayed by an award-winning barbershop quartet; they sang songs such as ‘Goodnight Ladies.’ Other songs include ‘The Wells Fargo Wagon’ and ‘Till There Was You.’ What musical by Meredith Wilson includes the character of ‘Professor’ Harold Hill and the song ‘Seventy-Six Trombones’? 
ANSWER: The Music Man
12.
THIS IS A 10-SECOND COMPUTATION QUESTION.  Convert the base 8 number 237 into a binary number given that this is equal to 159 in decimal form and equal to 128 plus 16 plus 8 plus 4 plus 2 plus 1.

ANSWER: 10011111
13.
S. J. Bergman discovered that bismuth and antimony have this property.  Superconductors exhibit the perfect type of it through the Meissner effect.  This property can be used to levitate certain materials such as pyrolytic graphite.  Name this property of a type of substance that contains only paired electrons and is repelled by a magnet.

ANSWER: diamagnetic (accept word forms such as diamagnetism)

14.
When it is paired with ‘a kiss,’ this five-letter word means to give an unexpected kiss. To do this with ‘someone’s thunder’ is to take credit for someone else’s idea or words. In sports, it refers to a defender taking the basketball from an offensive player or to a baseball player advancing a base while a pitch is thrown. What five-letter word most often means to take something from someone else? 

ANSWER: steal
15.
Morris Frank was the first person to utilize this organization, whose founders included Dorothy Harrison Eustis and Geraldine Rockefeller Dodge. Located in Morristown, New Jersey, it has helped 8,000 men and women gain self-sufficiency. 

Eustis had been inspired by a similar German organization that helped blinded World War I veterans by providing them German shepherds. What was the first organization in the US devoted to providing guide dogs for the blind? 

ANSWER: The Seeing Eye, Inc.

Second period, 10 directed questions per team, 10 points each
Set A questions have an ‘A’ after their number; set B questions have a ‘B.’ 

1A.
Rockstar Games is responsible for what video game series which has taken place in locales like Liberty City, Vice City and San Andreas? 

ANSWER: Grand Theft Auto
1B.
In January 2009, what country’s army captured Kilinochchi, the base for its Tamil Tigers rebel movement?

ANSWER: Sri Lanka or Ceylon
2A.
Researchers in Malawi have recently found antibodies for what bacteria that causes typhoid fever and a namesake foodborne illness associated with raw eggs?

ANSWER: salmonella
2B.
What seven-letter word originates from Latin words meaning ‘to place with’ and means to form the substance of or to create a work of art? 

ANSWER: compose
3A.
The Mattaponi and Pamunkey Rivers join at West Point to form what river that, along with the James River, forms the Virginia Peninsula? 

ANSWER: York River

3B.
This name was given to the Paleozoic Era land mass that assembled following the breakup of Rodinia. What landmass later fractured to create the Atlantic Ocean? 

ANSWER: Pangaea
4A.
‘Renascence’ and ‘First Fig’ are poems by what poet that wrote the collection A Few Figs from Thistles?
ANSWER: Edna St. Vincent Millay
4B.
Who assassinated William McKinley?

ANSWER: Leon Czolgosz 

5A.
THIS IS A 20-SECOND COMPUTATION QUESTION.  In simplest terms, what is the probability of drawing an ace OR a space from a standard 52-card deck?

ANSWER: 4/13
5B.
THIS IS A 20-SECOND COMPUTATION QUESTION.  Simplify the following expression by combining terms.  2 x squared plus 15x plus 5 x squared minus 13 minus 9x plus 16.

ANSWER: 7 x squared plus 6x plus 3
6A.
The Phoenician letter ‘ayin’ means ‘eye’ and resembled what modern letter that is probably the oldest letter of the alphabet? 

ANSWER: the letter O
6B.
Who was king of Prussia in the War of the Austrian Succession and the Seven Years’ War? 

ANSWER: Frederick the Great or Frederick II
7A.
An Alford plea is similar to what plea where the defendant neither admits nor denies guilt, yet is treated the same as a guilty plea? 

ANSWER: nolo contendere or no contest
7B.
Marlow is searching for what legendary but insane ivory trader in Heart of Darkness? 
ANSWER: Mr. Kurtz
8A.
What philosopher devised a rectangular coordinate system and coined the phrase, ‘I think, therefore I am’? 

ANSWER: Rene Descartes
8B.
Twelve Doric columns make up what gate located a block from the Reichstag building in Berlin? 

ANSWER: Brandenburg Gate
9A.
According to an Austrian physicist’s famous 1935 thought experiment, what animal is simultaneously dead and alive?

ANSWER: Schrodinger’s cat
9B.
The SI unit of capacitance is named for what scientist that is also the namesake for a law of induction and two laws of electrolysis? 
ANSWER: Michael Faraday
10A.
THIS IS A 30-SECOND COMPUTATION QUESTION.  Convert the sum of the following fractions into a decimal:  1/8, 2/5, 3/10.

ANSWER: 0.825
10B.
THIS IS A 30-SECOND COMPUTATION QUESTION.  What is the area of a right triangle with a hypotenuse of 26 feet and a height of 24 feet?

ANSWER: 120 square feet
Third period, 15 toss-ups, 10 points each

1.
In 1629, women were banned from performing it, and young men were banned in 1652. In 1723, performances about double love-suicides were banned. Its stage includes a ‘flower path’ that extends into the audience and other implements that allow for stage tricks known as keren. It was founded by a priestess named Okuni. What form of Japanese theatre is notable for its mask-like kesho makeup and postdates the more serious Noh theatre? 
ANSWER: kabuki

2.
Deaths in this battle included the Duke of York, the Earl of Suffolk, and Charles d’Albret, the Constable of France. Two French charges were stopped by English longbowmen and the mud. By battle’s end, nearly 10,000 Frenchmen had died, compared to perhaps 500 Englishmen. October 25, St. Crispin’s Day, in 1415 was the date for what massive English victory in the Hundred Years’ War? 

ANSWER: Battle of Agincourt
3.
Along with Minnie Minoso, he is the last Negro League player to play in the major leagues. His number, 44, is retired by both the Milwaukee Brewers and the Atlanta Braves. He was inducted into the Baseball Hall of Fame in 1982. He still holds the records for career extra-base hits and career runs batted in. Whose most famous record of 755 was broken in 2007 by Barry Bonds? 
ANSWER: Hank Aaron
4.
In the solar system, Enceladus is known to have the highest value for this parameter, as its surface is covered in fine-grained ice.  Some studies attributed a recent change in the Earth’s value for this to a lack of contrails following September 11, 2001.  Thick clouds have values from 0.60 to 0.90, while darker surfaces like soils and grasses have values below 0.16.  From the Latin for "white," this is what unitless quantity that describes how well a surface reflects radiation?


ANSWER: albedo
5.
This organization stated its principles with the Ten Point Program. While its members’ propensity for carrying loaded shotguns was alarming, it gained support for social ideas such as the Free Breakfast for Children Program. Stokely Carmichael’s Student Nonviolent Coordinating Committee briefly merged with this organization in the mid 1960s. However, Huey Newton’s manslaughter trial marked a decline of what Black Power organization? 
ANSWER: Black Panther(s) or Black Panther Party
6.
Ray Bradbury said The Martian Chronicles was inspired by this work. The title location is the setting for Philip Roth’s novel Indignation. Its characters include Standard Oil agent Joe Welling, telegraph operator Wash Williams, schoolteacher Kate Swift, and journalist George Willard. What is this frame story by Sherwood Anderson about a town in a Midwestern state?
ANSWER: Winesburg, Ohio
7.
He defeated von Steuben at the Battle of Blanford and captured Richmond in December 1780. Two memorials to him mention his date of birth, 1740, and his rank, Major General, but do not mention his name. He tried to justify his actions in To the Inhabitants of America. Who helped Horatio Gates win the Battle of Saratoga, but then conspired with John Andre to capture West Point, thereby ensuring his reputation as a synonym for ‘traitor’? 
ANSWER: Benedict Arnold
8.
The Universal House of Justice, located in Israel, is the headquarters of this religion. Its scriptures include the Gems of Divine Mysteries and the Kitab-i-Aqdas. Its founder is revered as the greatest of divine messengers that include Krishna, Abraham, Buddha, Jesus Christ, and Muhammad. What is this religion founded in 19th century Persia that emphasizes universal brother hood?

ANSWER: Baha’i Faith

9.
They worked together at the Campus Disco in the late 1970s and started their relationship when one of them was still married to Scott Baldwin. To the criticism of feminist groups, their love grew after a rape. Their wedding on November 16, 1981, remains the most-viewed hour in American soap opera. What residents of Port Charles appear on General Hospital and are known as ‘L&L’ (L and L)?
ANSWER: Luke and Laura Spencer
10.
Its first known isotope has a half-life of 20 hours and its longest-lived isotope has a half-life of 100 days and mass number 257.  Like its periodic table neighbor einsteinium, it was discovered by Albert Ghiorso.  Name this transuranic actinide with atomic number 100 that is named after an Italian physicist and has symbol Fm.

ANSWER: fermium
11.
A massive 430,000-word dictionary for this language took from 1863 to 1998 to publish. Nearly all speakers of West Frisian also speak this language. The two-letter combination ‘IJ’ is considered a separate letter. What language is the base for Flemish and Afrikaans and is spoken in The Hague and Amsterdam? 

ANSWER: Dutch
12.
It is part of the City of Tshwane (TSWAH-nay) in Gauteng Province. Landmarks include the Kruger House, the Voortrekker Monument, and the Transvaal Museum. The Union Buildings overlook this city and contain the offices of the president of its country. What city is, along with Bloemfontein and Cape Town, one of the capitals of South Africa? 

ANSWER: Pretoria
13.
His daughter Susannah was the mother of Charles Darwin. His Green Frog and Husk services were used by Catherine the Great. Queen Charlotte, the wife of George III, allowed him to name another of his lines ‘Queen’s Ware.’ He made a copy of the Portland Vase in 1789 and retired. A weak leg prevented him from operating a potter’s wheel, causing what pottery designer to turn to building factories and designing pottery? 

ANSWER: Josiah Wedgwood
14.
THIS IS A 10-SECOND COMPUTATION QUESTION.  What is the diameter of a circle with an area of 121 pi square feet, given that area equals pi r squared and diameter equals 2 r?

ANSWER: 22 feet
15.
THIS IS A 10-SECOND COMPUTATION QUESTION.  What is the total capacitance in farads of three capacitors in series if the three capacitors have capacitances of 10 farads, 2 farads, and 5 farads, remembering that the reciprocal of total capacitance is equal to the sum of the reciprocals of the individual capacitances?

ANSWER: 5/4 farads or 1.25 farads

Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
He supposedly asked for the inscription ‘Ungrateful fatherland, you will not even have my bones’ on his tomb, due to intrigues by Cato the Elder. With his brother Lucius, he defeated the Seleucids at the Battle of Magnesia. His most famous campaign started at the Battle of Ilipa, which allowed the Romans to conquer all of Spain. At the Battle of Zama, who defeated Hannibal, thereby earning a nickname due to the battle’s location near Carthage? 
ANSWER: Publius Cornelius Scipio Africanus (prompt on either by itself) or Scipio the Elder
2.
The ELIZA and PARRY projects were crude attempts to pass it. The ‘Chinese room’ thought experiment was proposed to show that passing it might not demonstrate anything about the computer doing so. Another potential weakness is the requirement that the computer involved be able to lie or make typing mistakes. The 1950 paper ‘Computing Machinery and Intelligence’ contains the steps of what test to determine if a machine can pass for human? 

ANSWER: Turing test
3.
He defeated Michael Flanagan to enter the House of Representatives; Flanagan had defeated Dan Rostenkowski. He decided to leave the House in 2002; he was replaced by Rahm Emmanuel. He became the second Serbian-American to be elected governor of a state. However, his possession of a ‘valuable thing’ that he ‘didn’t want to give away for nothing’ may prove to be his undoing. An attempt to sell Barack Obama’s U.S. Senate seat may mean prison for what embattled governor of Illinois? 


ANSWER: Milorad ‘Rod’ Blagojevich (bluh-GOH-yeh-vich)

4.
Types of it include Stratonovich, Lebesgue, Riemann, improper, line, and surface.  It can represent the area underneath a graph.  It has definite and indefinite forms and can refer to an antiderivative.  Name this term that according to the fundamental theorem of calculus is the reverse of differentiation.

ANSWER: integral or integration
5.
He bragged about his alcoholism, claiming, ‘An alcoholic is someone you don’t like, who drinks as much as you do.’ The poem ‘And death shall have no dominion’ was included in his early work 25 Poems. He had just finished the play Under Milk Wood but died shortly after his 39th birthday in 1953. Who wrote the short story ‘A Child’s Christmas in Wales’ and the poem ‘Do not go gentle into that good night?’ 
ANSWER: Dylan Thomas
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